BREEOREFERITHE

BREEOREFERITHLMH

AT

R RILEH i pay KER
GilgsH xF INF HhE | BB
S BE BERSFER BEREN-FH  |amxxrxss|  FIH 359% 2 = 3,444
REFR & BERSV-FEN BERSIV-FET  |ssxrxss| B/ 188% 3 7% 9,501
KBER 5= BERLET BERSVFT suRxExns| S 621% 19% 10,254
#FR % BERSUV=FT BERSUV=FT BERXFAGE| /N 149% 1 26% 10,934
A+ # BERSV-FEN BERSW-FET | saExrxssl  B/R 265% 1 NE 19,410
NG & BERSUL-FN BERSULV-FN ERRATATS =y 692% YES 4540
g BS BERSVFET BERIFEN BHRAFAEE| S 657% 2% 8,233
R —= BEREN-FEH BERSIVFET  |smxxexss|  B/A 118% 2 MNE 18,846
il N BERSVV-FER BERSUV-FER RBRXFRWL 201% 1% 1,550
iz e R BERSVV=FT BERSVV=FT BEXF=H 345% 2% 2,542
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RBE FA BHERLEINSE (BERLEEIISE | KFT/AVHK|l — KRE 933% 1 15 979
D BERLCEHNISE |BERLLEISE (XFTOARE| Y 367% 1 8% 7,752
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